HOMEWORK - Properties of Logarithms

Name: Date: Period:

Write the expression as a SINGLE logarithm. SIMPLIFY, if possible.
1. logsx +logs4 - logs2 % Iogz(%)ﬂogz(é)

3. 7logsx-4logsx 4. %Iog3c+%|og4d—2|ogSe

EXPAND the logarithm completely. SIMPLIFY, if possible.

5. log(3.2%) 6. Iogs(z?x)4
7. log.v8a’ 8. Iog%

EVALUATE without a calculator.

g log;3°+logs125 10. |093%_233;3

11. log.6+logs8 12, Gleassea



PRACTICE using the Properties of Logarithms

Write the expression as a SINGLE logarithm. SIMPLIFY, if possible.

1. log,14 -log,7 2. log;5 +log.x - log,10 3. 2log5+log4
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2logy Jgw ¥ 193404 - lega% - logg'h = log ¥ ""Dflb‘i -103»@2)5

= 10975 (04) ‘03-,‘35 m =loa W JY_-\og 87
logb%

EXPAND the logarithm completely. SIMPLIFY, if possible.

7. log:8x*y 8.  log _)5

:‘%31 *\0631? *I%B‘ﬂ -\Aﬁ‘tﬁ < l%,- "locsqs :l%bb- l%bx
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= Iog— Y2

i = log4 + loa (3°) ] T L
e \Di?' -}li-i 1043 + 3 103 * loga o " 1o o7

‘l”%" t Hogqy -4 [ogz . T %_naﬂp]

13. |0910@ 14. logs9* - log.64 15. 6.09-,3_'095%
1-3=[8] 37’ Yﬂ
= 3 - (-2)

165, Iog 8+logs9 17.  |og,48 - T Iog 9 l, \ré 18. —Iog 15 - logs ¥/75
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HOMEWORK - Properties of Logarithms

Name: Date: Period:

Write the expression as a SINGLE logarithm. SIMPLIFY, if possible.

- 1 1.
1. logsx+logs4 -logs2 2. Iogz(7)+logz(7)
= logadx - logs2 1\ 1
g SEVES
09
= lo 1
=|0932x 9:%s
E e 1 ’
3. 7logsx-4logsx 4. 2Iog3c+2IogA‘-1d 2logse
1 53 3
= log.x’ - log, x* =log(3c)? + log(4d)? - log(5e)
4 X = log¥/3c(¥4d) - log 256’
= log; ==
A &1 12¢cd g 2v3cd
= log.x® ~109755g7 T 987 5¢

EXPAND the logarithm completely. SIMPLIFY, if possible.

- 3 _Z_X K 4.4
5. log(3.2%) 6. Iogs( z ) - 25)4(
= log3 +log2* = 4logs2 + 4logsx - 4logs5
=log3 +3log2 = 4logs2 +4logsx-4 OR
= 4(logs2 +logsx - 1)
S X
7. log.,y/8a  =108:87a" 8. Iog%

=l|0928+7|090
= log1-(logm +logn)

=7( ) —Ioga -logm-logn
% %Ioga = -logm - logn
EVALUATE without a calculator.
g l0g;3°+log:125 10. |093%_2!0m
=5+3 ===
=8 =-5
11. |0926 -|ogsg ) |096( |098 ) 12. SICgsévlcgs?
"~ log2\ log6
_ log8 =g
" log2 =42
= |0928

=3



